EXHIBITI A) Bikes in pavement/no parking/keep existing tree lawn with 5’ to &'

sidewalk

_ 13| 3 \ ;\
l@_x.m- _ BucE
&
B) Similar
) " 3¢ FHf———y
1 Rl ! P ﬁ 6! w
L & _ : ~ 2!
Brwe _ Bwe
e

C) Bikes off pavement/no parking/tree lawn 10’ to 12* with 10" trail
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D) No bikes in pavement/parking both sides
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E) Parking on north side, reduce free lawn from 10' to 6’
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F) Not sketched, but suggested by a participant
1. Two 13 lanes = 26' with parking on north of 8' = 34
between curbs
2. Allow two 10" free lawns = 20" + 10’ trail on one side
and 6’ walk on other = 36’
3. Total=34'+ 36" = 70’



